QuesTion 1 Multiply the following expressions.

a 2xbag= b 3x6b=

¢ 8x9y-= d 7x3y =

e (-6)xab = f (-3)x(-2a) =

g 3ax(-b) - h (-2a)x(-3b) =
QuesTion 1 Multiply the following.

a 8ax2a= b b5ax4ax3c =

¢ b5ax3a-= d 240’ x4ax3a =
e 9xx(-3x) = f 6ax3ax(-2a)=
g 15xyx3x% = h 5y x(=3y)x(-y) =
i 8ax3bxsa = j 8x9axa’=

k abxa®x3a = |l 3abx3abxab =
QuesTioN4  Simplify the following expressions.

a bax-3a= b 4ax5bx2c =

¢ 8xx(-7x) = d —8ax3ax-2a =
e 150 x(-2ab) = f 10xx2yx(-2x) =
g 18a° x2ab® = h abxa’b’> x—ab =
i 8xxyxy’= j —5xx3xy =
QuUEsTIONS  Simplify the following expressions.

a 8abx(-ab) = b 7x3ax(—4a)=

¢ 9xxyx(-2x)= d 2ax3bx5¢c =

e (-a)x(-2a)x(-2b) = f (—x)x(-y)x(-x) =
g (-5p)x(-5p) = h 6ax(-3a)x2 =




